MTTC Chemistry Review Test II 14: Solutions II

Name

MUL TIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

1) A 25.0-mL sample of 0.723 M HCI04 is titrated with a 0.273 M KOH solution. What is the [H+] (molarity)


before any base is added?


A) 0.439
B) 0.723
C) 1.00 x 10-7
D) 0.273
E) 2.81 x 10-13

2) A 25.0-mL sample of an acetic acid solution is titrated with a 0.175 M NaOH solution. The equivalence point is


reached when 37.5 mL of the base is added. The concentration of acetic acid is
M.


A) 0.119
B) 0.263
C) 0.365
D) 1.83 x 10-4
E) 0.175

3) The primary buffer system that controls the pH of the blood is the

A) carbonate, carbonic acid

B) carbon dioxide, carbonate

C) carbonic acid, carbon dioxide

D) carbonate, bicarbonate

E) carbonic acid, bicarbonate

buffer system.

4) The pH of a solution prepared by mixing 50.0 mL of 0.125 M KOH and 50.0 mL of 0.125 M HCI is


A) 7.00
B) 0.00
C) 5.78
D) 6.29
E) 8.11

5) Of the following solutions, which has the greatest buffering capacity?

A) 0.121 M HF and 0.667 M NaF B) 0.821 M HF and 0.909 M NaF C) 0.100 M HF and 0.217 M NaF D) 0.821 M HF and 0.217 M NaF

E) They are all buffer solutions and would all have the same capacity.

6) Determine the Ksp for magnesium hydroxide (Mg(OH)2) where the solubility of Mg(OH)2 is 1.4 x 10-4 M.


A) 3.9 x 10-8
B) 1.1 x 10-11
C) 2.0 x 10-8
D) 2.7 x 10-12
E) 1.4 x 10-4
7) Calculate the maximum concentration (in M) of silver ions (Ag+) in a solution that contains 0.025 M of C032-.


The Ksp of Ag2C03 is 8.1 x 10-12.


A) 8.1 x 10-12
B) 2.8 x 10-6
C) 3.2 x 10-10
D) 1.4 x 10-6
E) 1.8 x 10-5
8) The molar solubility of
is not affected by the pH of the solution.


A) AICl3
B) Na3P04
C) NaF
D) MnS

E) KN03

9) Which of the following could be added to a solution of acetic acid to prepare a buffer?

A) nitric acid

B) more acetic acid

C) sodium hydroxide

D) hydrochloric acid

E) None of the above can be added to an acetic acid solution to prepare a buffer.

10) Which below best describe(s) the behavior of an amphoteric hydroxide in water?

A) With both cone. aq. NAOH and cone. aq. HCI, its suspension dissolves.

B) With cone. aq. NaOH, its clear solution forms a precipitate.

C) With cone. aq. NaOH, its suspension dissolves.

D) With cone. aq. HCI, its clear solution forms a precipitate.

E) With cone. aq. HCl, its suspension dissolves.

11) Which of the following could be added to a solution of acetic acid to prepare a buffer?

sodium acetate

sodium hydroxide

nitric acid

hydrofluoric acid

A) sodium hydroxide only

B) nitric acid only

C) hydrofluoric acid or nitric acid

D) sodium acetate or sodium hydroxide 

E) sodium acetate only

12) Which one of the following pairs cannot be mixed together to form a buffer solution?

A) KOH, HF

B) RbOH, HBr

C) NaC2H302, HCI (C2H302-) = acetate)

D) H3P04, KH2P04
E) NH3, NH4Cl

13) Human blood is


A) neutral

B) very basic

C) very acidic

D) slightly basic

E) slightly acidic

14) A solution of NaF is added dropwise to a solution that is 0.0144 M in Ba2+. When the concentration of F​


exceeds
M, BaF2 will precipitate. Neglect volume changes. For BaF2, Ksp = 1.7 x 10-6.


A) 2.4 x 10-8
B) 2.7 x 10-3
C) 1.1 x 10-2
D) 1.2 x 10-4
E) 5.9 x 10-5
15) What is the maximum concentration (in M) of chloride ions in a solution that contains 0.100 M Pb2+. The Ksp


for lead (II) chloride is 1.0 x 10-4.


A) 0.0.0010
B) 1.0 x 10-4
C) 0.032
D) 0.029
E) 0.058

Answer Key

Testname: SOLUTIONS ILTST

MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

1) B 2) B 3) E

4) A

5) B 6) B 7) E 8) E 9) C

10) A l1)D 12) B

13) D 14) C 15) C

